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Question Id : 5362281079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro

: No
Question Numbers : (1 to 5)
Question Label : Comprehension

Consider the following table that shows the number of girls enrolled in three differer
Universities A. B and C over the years 2015 to 2019. Based on the data in the table. answe

the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University
Year
A B C

2015 | 15.000 10.000 5,000
2016 | 10.000 17.500 20,000
2017 | 22.500 12.000 15,000
2018 | 20.000 25.000 15.000
2019 | 25.000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 5362281080 Question Type : MCQ Option Shuffling : No Is Question V

Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Unmiversity C in the year 201!
and the total number of girls enrolled in University A and University B together in the sam
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362284201. 1
5362284202. 2
5362284203. 3
5362284204. 4

Question Number : 2 Question Id : 5362281081 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimun

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362284205. 1
5362284206. 2
5362284207. 3
5362284208. 4

Question Number : 3 Question Id : 5362281082 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the yvear 2017 in all the three Universitie

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362284209. 1
5362284210. 2
5362284211.3
5362284212. 4

Question Number : 4 Question Id : 5362281083 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled 1n all the three Universities together in the yvear 2015 1s wha

percentage (%) of the total number of girls enrolled 1n University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284213. 1
5362284214.2
5362284215. 3
5362284216. 4

Question Number : 5 Question Id : 5362281084 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together 1s second highest fo
the yvear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362284217. 1
5362284218. 2
5362284219. 3
5362284220. 4

Question Id : 5362281079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

=t arfessr W fa=m Fifse f5a0 a9 2015 9 @9 2019 o fafa= favafa=memi A, B 3R (
e o Fet Ao F1 T S TS 2 | e {30 T oS % aR WuvH 1H 5 S

Number of girls in a University

Year
A B C

2015 15.000 10.000 5.000

2016 | 10.000 17.500 20,000

2017 | 22.500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 5362281080 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

9 2018 # Tavatamem™ C § J@en o+ =Tl sTieensT =i el e 941 SH 99 fgvardmed A 3

favataae B ¥ aifaen = aretl snietsiat i fted $o S H1 ST 74 8 7
(1) 4 :93 (2 S:4

(3) 2:3 4 1:3
Options :

5362284201. 1
5362284202. 2
5362284203. 3
5362284204. 4

Question Number : 2 Question Id : 5362281081 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

a9 2019 ¥R 99 2015 F =[(Ee o aTell ATfcRaAT F HEA § a0 eteiEd § ® ;

fefo =m |
(1) oo favataae=m A (2) o Tavata=ea B
(3) Tavat=nem A 0 favataEmem B A (4) Taratr= A 37 favat=ea C 3

Options :

5362284205. 1
5362284206. 2
5362284207. 3
5362284208. 4

Question Number : 3 Question Id : 5362281082 Question Type : MCQ Option Shuffling : No Is Question V



Correct Marks : 2 Wrong Marks : 0

9 2017 9 141 fEavataener 9 Sigen S-are] aneel = 2Hd T a1 2 e

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362284209. 1
5362284210. 2
5362284211.3
5362284212. 4

Question Number : 4 Question Id : 5362281083 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

T4 2015 H A FvatmeEl A4 afger SHEe aiese i afEee Fe dem o ad 2018

favafaamem C o sifgen s anferwraAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284213. 1
5362284214.2
5362284215.3
5362284216. 4

Question Number : 5 Question Id : 5362281084 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0



¥t i favafaaemt 8 Fa oo T a9 9 gifaen et it f g ad
T T A T T |

(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362284217. 1
5362284218.2
5362284219. 3
5362284220. 4

Sub-Section Number : 2
Sub-Section Id : 53622844
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281085 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

From the following., identify those characteristics which go within the category "helping
behaviour’ for becoming an effective teacher :

(A) Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B)., (C) and (D) only
(3)  (C). (D) and (E) only (4) (&). (C) and (D) only
Options :



5362284221. 1
5362284222.2
5362284223. 3
5362284224. 4

Question Number : 6 Question Id : 5362281085 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0
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(1) F== (A), (B) 7 (C) (2) A (B), (C) =1 (D)
(3)  Fa= (C). (D) 31 (E) (4) Fa (A). (C) #T (D)

Options :

5362284221. 1
5362284222.2
5362284223. 3
5362284224. 4

Question Number : 7 Question Id : 5362281086 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D)  Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362284225. 1
5362284226. 2
5362284227. 3
5362284228. 4

Question Number : 7 Question Id : 5362281086 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284225 1
5362284226. 2
5362284227. 3
5362284228. 4

Question Number : 8 Question Id : 5362281087 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes TRule
learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362284229. 1



5362284230. 2
5362284231. 3
5362284232. 4

Question Number : 8 Question Id : 5362281087 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

AT % TH F ATHA § FRE TR 1 Atam Em At F A T e B e

(1) 9T TETH AT (2) #UET AfEm
(3) Tawea o™ (4) e AtaTH
Options :

5362284229. 1
5362284230. 2
5362284231.3
5362284232. 4

Question Number : 9 Question Id : 5362281088 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

In which of the scales of measurement, the properties of classification and order. both ar
present?

(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362284233. 1
5362284234.2
5362284235. 3
5362284236. 4

Question Number : 9 Question Id : 5362281088 Question Type : MCQ Option Shuffling : No Is Question V



Correct Marks : 2 Wrong Marks : 0

T T § T T AT T ST A A 7

(1) s (2) HEF
(3) e LA (4) FA9mE
Options :

5362284233. 1
5362284234.2
5362284235.3
5362284236. 4

Question Number : 10 Question Id : 5362281089 Question Type : MCQ Option Shuffling : No Is Question I
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions in classroom teaching 1s to promote anc
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potentia
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362284237. 1
5362284238.2
5362284239.3
5362284240. 4



Question Number : 10 Question Id : 5362281089 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284237. 1
5362284238. 2
5362284239. 3
5362284240. 4

Question Number : 11 Question Id : 5362281090 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled a:

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures t«

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research iz not only a pmzed goal but a prerequisite fo

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the option:

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362284241. 1
5362284242. 2
5362284243.3
5362284244. 4

Question Number : 11 Question Id : 5362281090 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284241. 1
5362284242. 2
5362284243. 3
5362284244. 4

Question Number : 12 Question Id : 5362281091 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provide
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heuristics (IT) What 1s the culture of this group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

1) (AI), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-aD. (B)-I). (C)-@V), (D)-(D)
(3) (A)-(IID). (B)-(ID). (C)-D). (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(IID)

Options :

5362284245. 1

5362284246.2

5362284247. 3
5362284248. 4

Question Number : 12 Question Id : 5362281091 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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(2) (A)-(1D). (B)-(I1L), (C)-(IV). (D)-(D)
(3) (A)-(I1D), (B)~(ID). (C)-(@D). (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(I). (D)-(III)

Options :

5362284245. 1

5362284246. 2

5362284247. 3
5362284248. 4
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Question Number : 13 Question Id : 5362281092 Question Type : MCQ Option Shuffling : No Is Question |

Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362284249. 1
5362284250. 2
5362284251.3
5362284252. 4

Question Number : 13 Question Id : 5362281092 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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(1) AR Wi (2) =Ea® Aid=a
(3)  TEH W=EA (4) @HE TiaEEA
Options :

5362284249. 1
5362284250. 2
5362284251.3
5362284252. 4

Question Number : 14 Question Id : 5362281093 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnaissance in actlor
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362284253. 1
5362284254. 2
5362284255. 3
5362284256. 4

Question Number : 14 Question Id : 5362281093 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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(1) 3= (B) 3% (C) (2) FaE (A) R (B)
(3)  Fa (C) 31 (D) (4) Fae (D) 317 (E)
Options :

5362284253. 1
5362284254. 2
5362284255.3
5362284256. 4

Question Number : 15 Question Id : 5362281094 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents an
the scholastic achievement of pupils. Which of the following method of research will b

considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362284257. 1
5362284258. 2
5362284259. 3
5362284260. 4

Question Number : 15 Question Id : 5362281094 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Options :
5362284257. 1
5362284258. 2



5362284259. 3
5362284260. 4

Question Number : 16 Question Id : 5362281095 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4) Avolding eve contact with students

Options :

5362284261. 1
5362284262. 2
5362284263. 3
5362284264. 4

Question Number : 16 Question Id : 5362281095 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Options :



5362284261. 1
5362284262. 2
5362284263. 3
5362284264. 4

Question Number : 17 Question Id : 5362281096 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1) (A (B). (C) only (2) (B).(C). (D) only
(3)  (B). (C). (E) only (4) (C). (D). (E) only
Options :

5362284265. 1
5362284266. 2
5362284267. 3
5362284268. 4



Question Number : 17 Question Id : 5362281096 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

T Tuaw § Fefefiad 5§ 9 wnhe B 2 7

(A) AT A T
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(C) s ==

(D)  “Frssi 1 FH Fued 271

(E) == Fa

(1) #=4 (A). B) 3R (C) (2)
(3)  F=a (B). (C) 31 (E) (4)

Options :

5362284265. 1
5362284266. 2
5362284267. 3
5362284268. 4

F44 (B), (C) 311 (D)

4 (C), (D) @ (E)

Question Number : 18 Question Id : 5362281097 Question Type : MCQ Option Shuffling : No Is Question I
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Asszertion (A) and the other 1s labelled a:

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the
commumnication barriers.

Reason (R) : Since communicatlon 1s a complex process. regular feedback analysis 1:

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the option:

given below :

(1)
(2)
(3)

(4)

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1= correct but (R) 1s not correct

(A) 1= not correct but (R) 1s correct

5362284269. 1
5362284270. 2
5362284271. 3
5362284272. 4

Question Number : 18 Question Id : 5362281097 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284269. 1
5362284270. 2
5362284271. 3
5362284272. 4

Question Number : 19 Question Id : 5362281098 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) A). (). ®). (E). D) (2) (O). (B). (D). (A). (B)
(3) (B (O). (E), D). (&) 4 (D). (E). (C). (A). (B)
Options :

5362284273. 1
5362284274.2
5362284275.3
5362284276. 4

Question Number : 19 Question Id : 5362281098 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



(A) A

B T

(©) =R

D)y =

(E) e

I T3 ™ e 8 O w6 I 9

(1) (A (C). (B), (E). (D) 2) (O). (B). D). (A). (B)

(3) (B (0). (E), (D). (4) @) (D). (E), (C). (A). (B)
Options :

5362284273. 1
5362284274.2
5362284275. 3
5362284276. 4

Question Number : 20 Question Id : 5362281099 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



Match List I with Last II. Last I gives Modes of Communication. while List II provides thel

description

ListI
(Modes of Communication)
(A) Publicity
(B) Propaganda
(C) Advertising
(D) Public relations

List IT
(Dezcription)
()’ Reputation management
(ITI) Paid message
(ITII) Non-commercial promotion

(IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-AV). (B)-1). (C)-11I). (D)-(II)

(4 (A)-dI). (B)-(IV), (C)-dD). (D)-(I)
Options :
5362284277. 1
5362284278. 2
5362284279.3
5362284280. 4

Question Number : 20 Question Id : 5362281099 Question Type : MCQ Option Shuffling : No Is Question !

Correct Marks : 2 Wrong Marks : 0



g=1-I =i gi-I1 & gafeq Hifao

-1 =11
(s farfe) (foreron)
(A) wER (D  wioe w=EeA
B) FTER ) vs #E
(C) fasrm (D) T arorfsa dada
(D) = HU (@V) T T
4 f2 ™ faedi A & T I 9f

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(II). (B)-(IID). (C)-AV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID. (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(II), (D)-(I)

Options :

5362284277. 1
5362284278. 2
5362284279. 3
5362284280. 4

Question Number : 21 Question Id : 5362281100 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements, choose the correct answer from the options given below .

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362284281. 1
5362284282.2
5362284283. 3
5362284284. 4

Question Number : 21 Question Id : 5362281100 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

we[ (I): 7= 8999 & fF et f-sifead (777 =9 $0) 9 FeEn i @@ 53 7
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A 29 76 7 |
ITHF FYAT o A H A fahedl § H HA I 9 ¢

(1) = I 3R I SH 581 7 |

(2) w1 sk IL2H e 2 |

(3) F 1T 2 g 99 oA 2 |

(4) w1 55ea 7 g o 1A 7 |

Options :
5362284281. 1
5362284282. 2



5362284283.3
5362284284. 4

Question Number : 22 Question Id : 5362281101 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362284285. 1
5362284286. 2
5362284287. 3
5362284288. 4

Question Number : 22 Question Id : 5362281101 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



g 7 8 THGA (U 8 W A1) BT g (WeAE 6 U A1) UL 6 | 59 35 W A T
o 5 T e T 54 o | FefetEd 3 9 FwE-F1 /A0 w55 A

(A) I b TS THCE H |

(B) 354 3 wisdl UHEE i |

(C) 354 5 97T THEF F |

(D) IEF 3 Y7 UHEE H

T o7 ™ oot § @ w8 I 9
(1)  Fa= (4) 37 (C) only (2) ¥ (A) 3N (D) only
(3) == (B) 37 (D) only (4) Fae (B) 37 (C) only
Options :
5362284285. 1
5362284286. 2

5362284287. 3
5362284288. 4

Question Number : 23 Question Id : 5362281102 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Complete the series :

95 0,19, 37,00
(1) 75 (2 76
(3 I7 (4 78

Options :

5362284289. 1
5362284290. 2
5362284291. 3
5362284292. 4

Question Number : 23 Question Id : 5362281102 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



2501937, ...

(1) 75 (2) 776

(3) T (4) 778
Options :

5362284289. 1
5362284290. 2
5362284291. 3
5362284292. 4

Question Number : 24 Question Id : 5362281103 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a elock
together?

(D 1[}% min. past 2 () 1[}% min. past 2
10 . :
(3) 11H min. past 2 (4) 11 min. past 2

Options :

5362284293. 1
5362284294. 2
5362284295. 3
5362284296. 4

Question Number : 24 Question Id : 5362281103 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



2 3t 3 == = =g ot ot me i g2 @i fme g2 e wwE o any e

(1) 239 lﬂ%ﬁfl:ﬁ‘:ﬁ (2) 299F 10%1%:1?:?
(3) 2= 11% e m (4) 233 11T W

Options :

5362284293. 1
5362284294. 2
5362284295. 3
5362284296. 4

Question Number : 25 Question Id : 5362281104 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362284297. 1
5362284298. 2
5362284299. 3
5362284300. 4

Question Number : 25 Question Id : 5362281104 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

OTd HIHF ST &1 199 33 % | =90 © O9d 931 O 20 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362284297. 1



5362284298. 2
5362284299. 3
5362284300. 4

Question Number : 26 Question Id : 5362281105 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥ayva syllogism which states the reason for the establishment of
the proposition is called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362284301. 1
5362284302. 2
5362284303. 3
5362284304. 4

Question Number : 26 Question Id : 5362281105 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

T ZE B SAEAEE A A9 ATURAT B T & T a9 2 2, 39 A A6 E -

~

(1) e 4 T
(3) EHECI (4) 373
Options :

5362284301. 1
5362284302. 2
5362284303. 3
5362284304. 4

Question Number : 27 Question Id : 5362281106 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashryasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362284305. 1
5362284306. 2
5362284307. 3
5362284308. 4

Question Number : 27 Question Id : 5362281106 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Eleanicazu o Brilb e s o e e B T e e o e R e e e et LA s e B 2
ATATE § 3 A FEA

=0 9% § faafafiaa 4 o fFg e F1 eog e T

(1} =¥ 1-"]:'- .-__*F' {2) T4 dirIH- r;-l
(3) Acaiag (4 T#g

Options :

5362284305. 1
5362284306. 2
5362284307. 3
5362284308. 4

Question Number : 28 Question Id : 5362281107 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List IT explains their
description.

ListI Last IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(D), (C)-(IID). (D)-(IV)
(2)  (A)-ID), (B)-(IV), (C)-dD), (D)-(I)
(3) (A)-(I), (B)-(II), (C)-(IV). (D)-(ILI)
(4) (A)-(IV). (B)-(III). (C)-I). (D)-(II)
Options :

5362284309. 1

5362284310. 2

5362284311. 3

5362284312. 4

Question Number : 28 Question Id : 5362281107 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



T=1-1 =1 g=-I1 § gofead Fifan : -1 9 90 T$E = ca/md & w6is gei-10 5 391 =0 9 7T 2

i1 11
&) g @ =EH UH 7g FE A B AT A 2
(B) w=THEN i) :ﬂﬂﬁﬂmuﬁﬁﬂmmqm
T 31 TH191 210 26T £ |
(C) =T (L) == AF=a =g 1 Ferem 2 |
(D) i AV) = 3AEg 79 T FeaTaE 2 |

= 23 T faweT 8§ T I =99 i
(1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(dI). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(IIL)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :

5362284309. 1

5362284310. 2

5362284311. 3
5362284312. 4

Question Number : 29 Question Id : 5362281108 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a
Reaszon (R) :

Assertion (A): Indian Philosophy has been intensely spiritual and has alway

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of visio

which stands for the direct immediate and intuitive vision of Reality an

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the option

given below :

(1)
()
(3)
(4)

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 1= not correct but (R) 1s correct

5362284313. 1
5362284314.2
5362284315. 3
5362284316. 4

Question Number : 29 Question Id : 5362281108 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Hr= =1 o fom o 2w sl (A) R g # A (R) Fa T E

TR (A) YR 29 T ®Y W ATANCHS T 2 AN THE BHEn A @ed i ogaeiies fafg

STl 9 & {341 77 2 |
T (R) : ‘g v w1 wfmE ‘gfe’ awr Zfe w @eE 2 S AW % weas, ke

A TTHF T8 F UAF 7 a1 THH 97 AGHA W WES 7 0 5H A A AR

EIGIRR

ST A F AT 3 R el 3§ wEie I0Ed S =

D (&) FF R) ZA FA 7 AR (R), (A) il = = E
@ (AR ®) A FEE T (R), (A) FEA AR T E
(3) (A @F 2w (R) 7 6 2 |

@ (A TE TE 2w (R) TE A
Options :
5362284313. 1
5362284314. 2
5362284315.3
5362284316. 4

Question Number : 30 Question Id : 5362281109 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy. Nvayva advocates the theory of extrinsic validity o
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of it

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the option

given below :

(1) Both Statement I and Statement I are correct

(2 Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362284317. 1
5362284318. 2
5362284319. 3
5362284320. 4

Question Number : 30 Question Id : 5362281109 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



q’ﬁaﬂwqﬁvwﬁ
FoH (I): HWGE 594 § =4 79 % 9159 9971 F F64F 7 (50 W ImEng HE 9w f

FeA (1) :  3earg 331 FHarm i Zfe = fme 7= i et dga i @09+ 2
ST HEA F AT § ARG [Tl 8 H HEieen SuEd 39 I

(1)  =F I 3R I3 =8 2 |
(2)  ®¥ I3 I 24 98 9 7 |

(4) w157 79 & T e I EE 7

Options :

5362284317. 1
5362284318. 2
5362284319. 3
5362284320. 4

Question Number : 31 Question Id : 5362281110 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(D File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362284321. 1
5362284322.2
5362284323. 3
5362284324. 4

Question Number : 31 Question Id : 5362281110 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

TS IATHE UFHH, AFA 3117 w8 g v fafaiad 4 @ ek 2w 27
(1)  FIscl ST =8 (2) T = a
(3) e (4) #A=E
Options :

5362284321. 1
5362284322.2
5362284323. 3
5362284324. 4

Question Number : 32 Question Id : 5362281111 Question Type : MCQ Option Shuffling : No Is Question N
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

5362284325. 1
5362284326. 2
5362284327.3
5362284328. 4

Question Number : 32 Question Id : 5362281111 Question Type : MCQ Option Shuffling : No Is Question }
Correct Marks : 2 Wrong Marks : 0

(1)  |iRze i wsam (2) FEEE N FTEAE
(3) T AN FrH (4) W 3R AT
Options :

53622843251
5362284326. 2
5362284327.3
5362284328. 4

Question Number : 33 Question Id : 5362281112 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1) Java (2) Block chain
(3) Block code (4) Python
Options :

5362284329. 1
5362284330. 2
5362284331. 3
5362284332. 4

Question Number : 33 Question Id : 5362281112 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Tl FHT 7 T8 UreER W T e e e e

(1) = (2) =T =9

(3)  wA® HIS (4) wTEEH
Options :

5362284329. 1
5362284330. 2
5362284331. 3
5362284332. 4

Question Number : 34 Question Id : 5362281113 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of ou
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362284333. 1
5362284334.2
5362284335.3
5362284336. 4

Question Number : 34 Question Id : 5362281113 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



e 21 e fgu o E

Fo (I) : 320 H=AT = HEE 951 HAER & AT T5 5AR S99 1 Gecagsl 9 o4 T E
e (1) : HTML U g0 H7S T & 1 W1 g1 98 95 a1 999 55T 7 |
ST FUAT F AT A ARG R § H Al 3 9

(1) FRIATIIE =57 |

@ FE IR O34 T ? |

(8)  =wua L@ 2 T o 11 7o 2 |

(4)  FF I 3mea 2 g w9m L& 2|

Options :

5362284333. 1

5362284334. 2

5362284335.3
5362284336. 4

Question Number : 35 Question Id : 5362281114 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362284337. 1
5362284338.2
5362284339. 3



5362284340. 4

Question Number : 35 Question Id : 5362281114 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

CPS fF=fefaa 9 o fraer gftra =a 27
(1)  Foge T "Ean
(2) T THE HRAIE

(3)  HrEeR Hiawe areasi

(4) T THEFa e

Options :

5362284337. 1
5362284338.2
5362284339. 3
5362284340. 4

Question Number : 36 Question Id : 5362281115 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C), (D) and (E) only
(3) (A). (C) and (E) only (4) (B). (C), (D) and (E) only
Options :

5362284341. 1



5362284342.2
5362284343.3
5362284344. 4

Question Number : 36 Question Id : 5362281115 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Tfefad 9 9 FF ° FeavE /T H Seaicd [ 92 e TeeE 9 g2t

(A)  eEy TiE T T B FET
(B) =YY e THE =
(C) s F TFHAH F fow Tg 7 FET

(D) == W
(B) “a-fafaga gadt ==

Fr= T & et 8 od g
() Fa= (A), (B) 3 (B) (@) FE (A), (©). D) ¥ (E)
(3) Fad (A), (C) 3 (E) (4) === (B). (C). (D) # (E)

Options :

5362284341. 1
5362284342.2
5362284343. 3
5362284344. 4

Question Number : 37 Question Id : 5362281116 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362284345. 1
5362284346. 2
5362284347.3
5362284348. 4

Question Number : 37 Question Id : 5362281116 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Famaferfian & 7 & e e e A e 37

(A)  FE, TEER AR AGGEA
(B) =i = o 3= o

(C)  =7=HFaT | HHI

(D) =% T FA F 0w
(E) === a7

1) F&F Q). B). (O) FF (D) (2) = (A), (C) #F (D)
(3)  Fae (A). (B). (C) 3T (E) (4) Fa9 (B). (C), (D) 3 (E)

Options :
5362284345. 1
5362284346. 2



5362284347.3
5362284348. 4

Question Number : 38 Question Id : 5362281117 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries In increasing order of their installed capacities of winc
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1 O=E=O=>B=@ 2 O=<E=B<0=<®
(3) (D) = (B) <(E)<(C) <A (4 (E)<D)<@B) <(C)=<A)
Options :

5362284349. 1
5362284350. 2
5362284351. 3
5362284352. 4

Question Number : 38 Question Id : 5362281117 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 vam et $1 geurug agar (2018 F1 feuid = 99Er) % §ed %9 9 7

(A) ==

(B) wrd

(C) qUH Y

D) w=

(E®)

()  D)<(E)<(C)=®B) =<(A) @ M=<(E)=® <) <)

3 @D=@B=E=(C)=\ 4) (E)=@D)=@B)=(C)=@)
Options :

5362284349. 1
5362284350. 2
5362284351.3
5362284352. 4

Question Number : 39 Question Id : 5362281118 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  Sunlight 1s a pre-requisite for the formation of photochemiecal smog in urbar
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summel
seasons 1n urban areas of India.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362284353. 1



5362284354.2
5362284355. 3
5362284356. 4

Question Number : 39 Question Id : 5362281118 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

S =1 e R o E

Fom (I): 9T &6 # T THEEE gH-FE0 % G % O g3 % ww o gaien 2 |

FoF (II) : THEREEAT gA-FHET 9 F TRl & 0 WiaEE AR e § aE-SE BF an
TiEE 7 |

IUF FYA % AR ° ARG e 3 @ EwE I A
(1) = [k IL3MT =41 & |

(2  wu I#R I3 Ted 2 |

(3) v [H 2 g 9 1 7Te 2 |

(4) w35 2 g 5o LT 2|

Options :

5362284353. 1

5362284354. 2

5362284355. 3
5362284356. 4

Question Number : 40 Question Id : 5362281119 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362284357. 1

5362284358. 2

5362284359. 3
5362284360. 4

Question Number : 40 Question Id : 5362281119 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



A 21 o T o E ;o W v Al (A) SR gE e (R) FE R

—— =9 A AFE 100 T91 F FAFT- AT TEAEIT 4 01 790 TE F A F Afvas
4 gfg = fi amar § Frft i 21 T |

% (R) : Fo TH=12T TH F1 ST 164 315 S FEEs F go 9 F 76 7
IS FYAT F AEH °§ G [GEeT § O gaigs 39ged I 9

() (A) 3R R) 9 =8 2 37 (R), (A) F 781 =men 2 |
(2 (A) IR ®) IA T E T R), (A) Fi 7 = Tw=; 2
() (AT T R) T T A
@ (A @A 2 (R) T A

Options :

5362284357. 1
5362284358.2
5362284359. 3
5362284360. 4

Question Number : 41 Question Id : 5362281120 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Teacher-Education institutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362284361. 1
5362284362. 2
5362284363. 3
5362284364. 4



Question Number : 41 Question Id : 5362281120 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Toreqe —foreqor weu FeaeTiad 0§ e 4ol | o B Y

(1)  T-unie @) T
(3)  =HEEIEE (4) v sEfE
Options :

5362284361. 1
5362284362. 2
5362284363. 3
5362284364. 4

Question Number : 42 Question Id : 5362281121 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Universities of Nalanda. Taxsila and Vikramshila of ancient India are no
all located 1n the Indian Territory.

Statement II: The entrance test of its own kind was prevalent 1n the ancient seats
learning of India.

In the light of the above statements. choose the most appropriate answer from the optior
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362284365. 1
5362284366. 2



5362284367. 3
5362284368. 4

Question Number : 42 Question Id : 5362281121 Question Type : MCQ Option Shuffling : No Is Question !

Correct Marks : 2 Wrong Marks : 0
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5362284365. 1
5362284366. 2
5362284367. 3
5362284368. 4

Question Number : 43 Question Id : 5362281122 Question Type : MCQ Option Shuffling : No Is Question !

Correct Marks : 2 Wrong Marks : 0
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Atal Ranking of higher education institutes and umiversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362284369. 1
5362284370. 2
5362284371. 3
5362284372. 4

Question Number : 43 Question Id : 5362281122 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284369. 1
5362284370. 2
5362284371.3
5362284372. 4

Question Number : 44 Question Id : 5362281123 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362284373. 1
5362284374.2
5362284375. 3
5362284376. 4

Question Number : 44 Question Id : 5362281123 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :
5362284373. 1
5362284374.2



5362284375.3
5362284376. 4

Question Number : 45 Question Id : 5362281124 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education in ancient India was not just acquisition of knowledge a
preparation for life in this world or life bevond schooling but for complet
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_&ing and peace constituted th
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362284377. 1
5362284378. 2
5362284379. 3
5362284380. 4

Question Number : 45 Question Id : 5362281124 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284377. 1
5362284378. 2
5362284379. 3
5362284380. 4

Sub-Section Number : 3
Sub-Section Id : 53622845
Question Shuffling Allowed : Yes

Question Id : 5362281125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative imagination of how this can be made possible 1n reality
Thus. 1t runs the rsk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", etc. This could be related tc
the comfort-seeking nature of the senses and a part of the vital ife-force that wants to take
the easy way out. If one's core essential concept 1= fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 5362281126 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience in life
Options :

5362284381. 1



5362284382.2
5362284383. 3
5362284384. 4

Question Number : 47 Question Id : 5362281127 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3) (B)and (C) (4) (C) and (D)
Options :

5362284385. 1
5362284386. 2
5362284387. 3
5362284388. 4

Question Number : 48 Question Id : 5362281128 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of life

(4) By being fashionable about the core concept of life

Options :

5362284389. 1
5362284390. 2
5362284391. 3
5362284392. 4

Question Number : 49 Question Id : 5362281129 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362284393. 1
5362284394. 2
5362284395.3
5362284396. 4

Question Number : 50 Question Id : 5362281130 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Today's world 1s not for any value system



Options :

5362284397. 1
5362284398. 2
5362284399. 3
5362284400. 4

Question Id : 5362281125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362281126 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284381. 1
5362284382.2
5362284383. 3
5362284384. 4

Question Number : 47 Question Id : 5362281127 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284385. 1
5362284386. 2
5362284387.3
5362284388. 4

Question Number : 48 Question Id : 5362281128 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :



5362284389. 1
5362284390. 2
5362284391. 3
5362284392. 4

Question Number : 49 Question Id : 5362281129 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284393. 1
5362284394. 2
5362284395. 3
5362284396. 4

Question Number : 50 Question Id : 5362281130 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284397. 1
5362284398. 2
5362284399. 3
5362284400. 4



